R e A o S

e e T o T S S Gy
~ N =W N = O

iV. Answer Key
82

—3«3’?

43 —4/5

9413

26 — 645 + 343
6v35 + 2015 — 8V7
445+ 5+/3 — 6v2
3243 —%?rﬁ’ —
213+ 3k

. —4+4/5
35+ 4vZ + 630 2030
HNE—7E e, - INE x31{

.0

LBV3 + 7VE + 4415
=11 —6v2+ 14V3
5446 ++/10
A0VTI1203) - 15 - LT,
18.
19.

?*sfg — V%

36 + 4435

Ophyavz — 1430 +3v5

21.
22.
23.

18+ 2421
1342 + 24/85

2042 + 85

24. Actual answer is 9\;‘3; add the coefficients, but do not add the radicands.

25. No, need to simplify the radicals before comparing the radicands.

6V208 + 7v117
24413 + 28V13
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